FXRFFIX

HE L

N N o . R
ENERRE B Fr25% 48 1B E FERk26% 3831H
—=F% N - s,
S BMEREB REFERE AIEERE B
a | 1x RHZIFBEIA 2,238,150 2,401,440 -163,290
i
=
*g fﬁ#i%i#iﬁwﬂlﬁm 2,238,150 2,401,440 -163,290
% RHRIRBEIN 2,173,050 1,879,022 294,028
El
0]
il “i ~?¢t*;l‘?3£#%$¥ﬁ§§iﬁiHﬁﬂz) 2,173,050 1,879,022 294,028
RFRIEEEEFTRZEREER)=01)-(2) 65,100 522,418 7457'318
@ | fﬂ;;ﬁf%uxk 236,963,055 235,707,141 1,255,914
o3 ;
i)\ FARYSZHIFI FAFHIRA
z WEANEEFIRA 5,000,000 5,000,000
& BRERBWMBSIA
g% FHt LA 590,000 1,892,000 -1,302,000
%Elbl)k_ - 6,108,522 6,148,555 -40,033
galgigf{gmﬁﬂtﬁu)\ 1,300,000 -1,300,000
Elﬁriﬁﬂ?ﬁ%ﬁﬂl_l%ﬁﬁﬂﬁﬁﬁﬁ 9,893,151 9,114,818 778,333
BREBEFEHIAGAG 258,554,728 259,162,514 -607,786
% A& H 151,001,560 151,640,702 -639,142
EHEXME 31,039,310 31,687,905 -648,595
" %éﬁ%;i.‘ﬂ 34,687,290 34,775,678 -88,388
ggﬁfgi 15,193,166 21,671,839 -6,478,673
NRERH
ELée’E%azA _ 3,255,700 3,341,280 -85,580
:ﬁé %%%ﬁéﬁi‘iﬂﬁﬂs) 235,177,026 243,117,404 -7,940,378
fﬁé%%i;\z%l};ifw?ﬁ(e):w—(s) 23,377,702 16,045,110 7,332,592
S FIBREIZIA 57,
% |1z té t 57,850 -57,850
% fﬁyfu,%:\@a%@um 13,901 13,041 860
5;\ ;aéigFaﬁi-f)\éEl[ﬂ)k 1,000,000 1,000,000
g REXSMBASIA 11,388,000 4,696,000
i BAAIMIEL T poseon
A mEES T
) - =
0 ERFEBIVRAGHD) 12,401,901 4,766,891 7,635,010
% EAEFIEZH 57,850 -57,850
%Eiigé::%ﬁffa:akﬁiﬂj 11,388,000 4,696,000 6,692:000
" REEMMBASIH 1,000,000 1,000,000
B AE TR o
EoR N Dt ]
& A
FEEHINZIHEEG) 12,388,000 4,753,850
BEFEIIRZEEE9)=(7)-(8) 13,901 ) 13:041 7YG34Y;22
ﬁﬁuﬁ%%g(lo):(sﬁ(sﬂ(g) 23,456,703 16,580,569 6,876,134
2 | g ﬁ'ﬁﬁ%ﬁﬁ%ﬁﬁﬂﬁﬂi)\ 12,787,000 12,787,000
o R R HEFHSILA o
qiy)\ [EE & E 2 RE5E
B E & ESTH I
)
g EEHBSE AR S RARLE
FOHOFFRIURA
S5 RIIRAEH(11) 12,787,000
" e 12,787,000
EEHE SRR &I
B & EFR B RUVLS 8 3 3
| zotowmiEs
S5 RIS EH(12) 3 3
HE AU 2 = EE(13)=(11)-(12) 12,786,997 12,786,997
L HE BN EEB8(14)=(10)+(13) 36,243,700 16,580,569 19’663Y131
a ?.'J,ﬁﬁﬁéé#%iﬁjémlwzﬁgﬁms) 49,120,356 38,639,787 10:480:569
% zizﬁﬁg;@i?fiigﬁ“6):<14)+(15) 85,364,056 55,220,356 30,143,700
7] 3tz AX AH BH
B | mke@AE(S
i A AE(18)
¥ | ZOMDFEIL S ENAAEE(19) 3,975,200
3L R ,975, 3,975,200
?E ZOM ORI £ FEITEE(20) 13,275,200 6,100,000 7,175,200
0)
B | REASHEENIR 2 EA(21)=(16)+(17)-(18)+(19)~(20) 76,064,056 49,120,356 26,943,700




